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I. Answer the given Multiple Choice Questions.                                               ( 12 x ½  = 6 )  

1.  How many quarters make a whole? 1 4 2 

2.  38 kilometres is equal to _______________ metres 3800 38000 380 

3.  36
 100              36

100
 = < > 

4.  The unit to measure the distance between Mumbai   

      and  Delhi is  _____________________ 
kilometre metre Centimetre 

5.  16 m = ____________cm 160 1600 16000 

6.  If 50cm is added to itself , the answer is _________ 1 m 50 cm 500 cm 

7. Three-quarters is written as __________ 3
4
 4

3
 1

4
 

8.  65000 m =________________ km 6500 65 650 

9.  5
10 is bigger than ___________ 5

10
 2

10
 8

10
 

10. 4 km 640 m = _____________ m 4640 40640 46400 

11. In  
35
100

 the denominator is ___________ 100 15 35 

12. Find the missing numerator in  
𝟓𝟓
𝟒𝟒
 =  

𝟐𝟐𝟐𝟐
 20 5 25 

 

 



II.  Match the following .                                                                                       ( 4 x ½= 2 ) 
                      A                                                                          B 

1. 2 parts out of 5 equal parts is a. 2
2
 

2. 500 cm is b. 500 m 

3. ½ of a kilometre is c. Two-fifths 

4. One whole is d. 5 m 
 
III.Read the instructions carefully and solve the following.                              ( 6 X 1 = 6 ) 

1. Arrange the following fractions in descending order. 
41
90

 , 14
90 , 83

90
 , 38
90

 

2. a) Add    
 11
90

 + 20
90

+ 1
90

        b) Subtract   
 31
131

  ‒  21
131

 

3. Write 2 equivalent fractions for the fraction  
𝟒𝟒
𝟔𝟔
    

4. Convert : 

a) 880 cm into metres and centimetres  

b)  6 km 450m into metres 

5. Add  315 km 100m,  180 km 283 m,  117 km 120 m 
 

6. Subtract 189 m 81 cm and 136 m 57 cm 
 
IV. Read, understand and solve .                                                                          ( 2 x 2 = 4 ) 
1. There were 20 cup cakes.  Neena ate  

𝟏𝟏
𝟓𝟓
  of them. How many cup cakes did Neena eat? 

 
2. Maya used 41 m 50 cm of red ribbon and 34 m 28 cm of blue ribbon to make a flower. 

How much ribbon did she use in all? 
V. Read,think and answer the questions.                                                               ( 2 x 1 =2) 

1.The height of a mobile tower is 22m 56 cm . Find the length of the tower in centimetres. 

2. Mona has a box filled with numbers. She likes the numbers that has ‘zero’at the Ones 

place. What fraction of the numbers does she like? 

 450  300  1000 

10  28  9 

 403  33  60 
   


